(et i AN

fiche G4 a'_} Il-—_hLLA_ _____ A R A ‘A
o, v I Quel est ce verbe ?




““00

v
[\
q

@)
)0
Do

: |leAeJ} UO) 3p
asuad asjiew ) anb )

I:I

,@
\®

.EI
Do

: [leAet] uoy

ap sasuad ny anb a)

—
ko)
“onag D
sins 2w 2

>nNvd

wouud uow O

4422 10,0

D $9 2214

7
\
q

EI
)0
@o

(|
il )
Y %. !
: |leABJ} UO) P

asuad aJylew 3] anb 3)

D OoD
RS
. . |leAesy uo}

ap sasuad ny anb a)

sins 2w 2

uw33<n_

wouzud uow O

41492 0,1

D §9 2214

= ‘njaJ D

cooo BDOD
/ (&)
DR @RS
e T ! leAeJ} UOY nj2d
* llened3 uoy ap ap sasuad ny anb 33 Sins 2w ap
asuad asyiew 3 anb )
1 | 1
X2
1 ( i
VR
AL
ul ( (1
\V) VH
{
<4d* AL
ul U
AV VH

| | =

L
P

[«
—

3

+<

c

=)

I
Hlb|I|| =21 ©

L
-

[«
—

:

L
~
[am
—

%

L
—
—

q
—

[«
—

Hi|

_\_
9
4
AL
4<d—\ Cr m
|
Y Y AL
00 Q
\idﬂa
i )
{
AR} AL
00 9
|
k| AL
00 v

Znvd

wouzud uow
4492 0,0

D $9 2014







